Ef~=m HHvR EF=m FHwvs 1SO9001:2015
KH4 B! 1Y & Bk 1@ KH4 8! Y & Bk 13

KH4 Series 4 Way Ball Valve KH4 Series 4 Way Ball Valve

BIE B8 Model Code
KHB- KH4 - DN* - * - * - *

BIE 5Bl Model Code
KHB- KH4 - DN*- B - * - *

Ball body sealing material:1-POM 2 4 4 :
Joint&Ball shaft O-ring material:2-NBR 4-FPM ﬂ:ﬂ::jz] 3@» 1IN 3@»1 POiEEkiE THZ L A 3

2 4 —
General Material Assembled:1112 13 2 2 E[:::]X] 3_@_1 [\5_93 3@ 1 M\u:hl T @ C
13 I LI
~NEilT
SMERT —— @/ -
Overall Dimension 2 4 4
(X €3
13 2

: 5% 1 2 3 4 5 1 2 3 4 5 "
¢ 1 X N . . (Eh
LEFKS : MIBEKIE LRSS - mEEKE H
2/AFRIER 04, 06, 08, 10, 12, 16, 20 mm . g’ﬁ;gi 1 g;&g% 08. 10, 12, 16, 20mm
. ., s s - L I( L BRBRL a
SR s B »{ e T X - i
4 IRIEYEE T, X - - SRS : H
S5HBS % ‘ 7 MRS AR - -3 3- AR f%f
\ G apud - 1 e ‘ AR - 1B 37 g
BRI 1-BR4R 3R BN ’ ( . gﬁgﬁwg'&? SOTA%W A i
N w1 _p 7 - 2 pAES ~\..:.._ N N : 8
kAR 1-BEN 3B \ BB B  2-TIBRR 4-85%K %f
KR ZEME  1-POM EHrEAS 1112 E
AL 2 TR R e 12 16 20
BAMRES 1112 e . . 3.Connection Type:Sub-plate Mounting
1.Series Code:4 Way Ball Valve EIf2#3S Hydraulic Schematic 4.Ball Engineer:T. X
g o : : 5.Material Code: s
37 2.N ID :04, 06, 08, 10, 12, 16. 20 v T . i
g J% emina . lameter . mm PUEEKiE TH, Valve body/joint material:1-carbon steel 3-stainless steel gg
z 3.Connection Type:Sub-plate mounting 24 4 Ball shaft material:1-carbon steel 3-stainless steel Big
f 4.Ball Valve Engineer:T. X E[::IX] 3-@-1 fé_j 3 1 Ball body sealing material:1-POM f
. 5.Material Code: 13 3 o= J Joint&Ball shaft O-ring material:2-NBR 4-FPM .
; T Valve body/joint material:1-carbon steel 3-stainless steel General Material Assembled:1112 _ ;
%%%I Ball shaft material:1-carbon steel 3-stainless steel POiE kiR XH2 ﬁgfg% Hydrau“c Schematic yl\ﬁgRT_r Overall Dimension ﬁlf

"o
R
SauS RN ITID (Ui AN

dd2
B
>4
D J——

2 L A

(11

saiesmwmoj
H = 2 i
~
T
s
[N
(7%}
r=s0
100
=4
w
-
=
hl
h2
L1
L3
2N
)

SW JE— 5 1

® > 1 ) = . o
fe — AN - — - oEIRE - EERS DN W, RA  dl i L L1 L3 H hl h2 d2SWISW2 ol
/AR N2
T — A 7N = I d1 BLV-KH4-DN04-M12X1.25 04 5 5 8 M12x1.25 10 105 70 55 57 2 40 65 12 24

< g N\ >4 Q/ J N\ — P o M A BLV-KH4-DN06-M16X1.5 %6 5 5 11 M16x15 1 114 70 55 57 22 40 65 12 24

\ / w {_‘ D = T w BLV-KH4-DN08-M22X1.5 08 9 9 16 M22x15 12 116 80 65 675 27 50 65 12 30
7 Um F<:\u — M~ T Sw2 BLV-KH4-DN10-M27X1.5 10 9 9 20 M27x1.5 12 144 80 65 675 27 50 65 14 30 m 7
4 /A A /A T4 BLV-KH4-DN16-M30X1.5 6 12 12 24 M30x1.5 13 144 100 8 775 31 60 65 14 36 o :
4] ) @} A \/j AEELREIBIBA-TTHTE BLV-KH4-DN20-M36X2 20 18 18 30 M36x2 15 166 100 85 92 36 73 9 17 46 1 ;
d1 BLV-KH4-DN04-G1/8 04 5 5 G1/8 10 100 70 55 57 2 40 65 12 24 B
G RA BLV-KH4-DN06-G1/4 06 6 5 G 1/4 14 100 70 55 565 22 40 65 12 24 3]
\ SW2  BLV-KH4-DN10-G3/8 10 9 9 G3/8 14 115 80 65 675 27 50 65 14 30 :

i - L1 4 BLV-KH4-DN16-G1/2 6 12 12 G1/2 16 135 00 8 785 31 60 9 14 36
. = i BLV-KH4-DN20-G3/4 20 16 18 G 3/4 18 144 100 8 905 36 72 9 14 41 s
z L] BLV-KH4-DN04-06LR 04 5 5 6 M12x15 10 105 70 55 57 2 40 65 12 24 ] =
2 2 e LR 2;‘1 BLV-KH4-DN06-08LR 06 5 5 8 M14x15 10 105 70 55 57 2 40 65 12 24 g;
& s L L1 L2 L H h E Vv SW K di d2 d3 da | A BLV-KH4-DN08-10LR 08 9 9 10 M16x1.5 1 114 80 65 675 27 50 65 12 30 G

Model W BLV-KH4-DN10-12LR 10 9 9 12 M18x1.5 1 114 80 65 675 27 50 65 14 30

BLV - KH4 - DNO6-B 90 70 68.6 102 58 40 22 13 12 160 6 14 11 18 7 SW2 BLV-KH4-DN12-15LR 12 12 12 15 M22x1.5 12 136 100 8 775 31 60 65 14 36

BLV - KH4 - DN10 - B 99 30 81 149 62.5 57 31 11 9 130 8 14.8 8.5 14 N BLV-KH4-DN16-18LR 16 12 12 18 M26x1.5 12 136 100 80 775 31 60 9 14 36

BLV-KH4-DN20-22LR 20 18 18 22 M30x2 14 143 100 8 925 36 73 9 17 46

BLV - KH4 -DN13-B 140 90 1154 154 78 60 31 14 14 200 13 19.8 135 20 LR - BLV-KHA4-DNO4-08SR 5 5 3 MI6x15 105 70 5 57 > 40 65 1 2

BLV -KH4 -DN20-B 171 100 137 184 88 67 365 165 17 320 18 279 135 20 24 BLV-KH4-DN06-10SR 06 5 5 10 M18x15 12 105 70 55 57 2 40 65 12 24

BLV - KH4 - DN25 - B 205 115 162 225 96 75 40.5 16.5 17 320 23 31.9 18 26 RA BLV-KH4-DNO08-12SR 08 9 9 12 M20x1.5 12 116 80 65 675 27 50 6.5 12 30

Lw BLV-KH4-DN10-14SR 10 9 9 14 M22x15 14 120 80 65 675 27 50 65 14 30

BLV-KH4-DN32-B 260 148.5 180 288 147 115 62 26 22 600 32 399 22 33 Z Sw2 BLV-KH4-DN12-16SR 12 12 12 16 M24x1.5 14 140 100 8 775 31 60 6.5 14 36

BLV-KH4 -DN40-B 301 1555 206 332 156 125 65 25 22 600 38 559 26 40 BLV-KH4-DN16-20SR 6 12 12 20 M30x2 16 144 00 8 775 31 60 9 14 36

BLV-KH4-DN20-255R 20 18 18 25 M36x2 16 151 100 85 92 %6 73 9 17 46

Bolev WWW.BOLEV-HYDRAULICS.COM [BIE




